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printf("3x4=4-%d - \n", 3*4);
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Samplel.c » (FEEROFESD

#include <stdio.h>

int main(void)

FibE A 1 +2 EEEET,
{

printf("1+2 FHt sd o \n", 1+2);
printf ("3 X 4FEH %d o \n", 3%4);

return 0:
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Int numl = 2;
Int num2 = 3;
Int sum = numl+num?2; «
printf("EAEmum1pvifiklo%d < \n", num1);
printf("RALmum2pvitikl%d < \n", num2);
printf("num1+num2py i kL%d - \n", sum);
numl.=numl+1;
printf("REEnum1p {1 & £L%d © \n", num1);

numl+1V iz > Fjﬂﬁﬁﬁ?ﬁé_%ﬁﬁﬁmuml

numl+num2d i - Fl§ &bl W@grsum




Sample2.c » (FHREZEHELSEST

#include <stdio.h>

int main(void)

{ Unuml+num?2 2% ' BEEHGA—EEE sum
int numl = 2;
int num2 = 3:

int sum = numl+num?:e

printf (" & numl BY{EE %d » \n", numl);
printf (" #& num2 B){EE %d °© \n", num2);
printf("numl+num2 BJ{EE %d = \n", sum);

numl = numl+l;e—— Qnuml+1 2% BEEEETHOESZ num

printf (" 8 numl FY{EM1#EE %d = \n", numl);

return 0;
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Int numl, num2;
printf(" iy * STLIHEERE : \n”);

scanf("%d", &num1l); ) (FERARE " Y AS i
( ) ;F'#_’”\&ﬁé@(m umlFinumz2

printf( ] * A0 ;T
scanf("%d", &numz2); « |
printf("AE LY AR RL%d © \n”, num1+num2);
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Sample3.c » IEEEER

#include <stdio.h>
int main(void)

{

int numl, num?2;

printf (" HEWAR 1 EEE : \n

scanf ("%d", &numl) ;e rtEaREn AR EEEE R
IETEHEE numl Fl num?2

printf (" FEEIAS 2 @R : \n

scanf ("%d", &num2); e

printf (" HMZENHERE 2d - \n", numl+num2);

return 0; | - N
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Sample4.c » (FHIZBEEEF

$include <stdio.h>

int main(void)

{

int numl

int num?2

printf("numl Bdnum2 PWRIEEE : \n");

printf({"numl+num2 FEHL %d « \n", numl+num2); —

printf("numl-num2 FHt %d  \n", numl-num2);
printf("numl*num2 FH %d  \n", numl*num2);
printf("numl/num2 F}t $d  \n", numl/num2);

printf("numl%%num2 &FEHt %d o \n", numl%num2) ;_

return 0:; &?i%*ﬁl_%
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++a

a++
b = ++4a;
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Sample5.c » HIBEHEZBRIZESFHER

#include <stdio.h>

int main(void)

{

printf (" IEERBERIZSES FE|b ZEBRYEA %d ° \n",

return 0;
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Sample6.c » (FEHRESIECESF

#include <stdio.h>

int main(void)
{
int =sum 0:

int num 0

printf (" FEEAE 1 [EEEE] :
scanf ("%d", &num);

sum += num; ¢

printf (" FEEMAE 2 [EEEE] :
scanf ("%d", &num);

sum += num;e

printf (" FEEWAE 3 ERE -
scanf("%d", &num);

sum += num;e

printf ("3 BEBAATE sd ° \n"

return 0;
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Sample7.c » {Efsizeof EEF

#include <stdio.h>

int main(void)

{

int a = 1; SEEHARER AN
int b = 0:

printf("short int BIEERYK/\AE sdbyte ° \n",
sizeof(short int));e
printf("int BVAERYAK/\VAE tdbyte o \n", sizeof(int));
printf("long int BYEERTA/VE $dbyte o \n", sizeof(long int));
printf("float BYBEAYK/|\VE sdbyte o \n", sizeof(float));
printf ("double BYBERYA/\E sdbyte © \n", sizeof(double));
printf("long double BVBERIK/NG $dbyte ° \n",
sizeof(long double));
printf (" &g a Y A/\AE tdbyte o \n", sizeof(a));
printf (" EBEX a+b K/ 5B tdbyte = \n", sizeof(a+b));
?

return 0; EEIBEETLBI AN

R R
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InNt 1num;
double dnum;
inum = 160;
printf("Eﬂaﬁg%df&ﬁ -\n"", Inum);
pri ntf("fﬁ{gﬁ‘}doub le B [fEpvadhj - \n™
dnum = 1num;
printf("Eﬂﬁﬁé%ffﬁﬁ -\n"", dnum);
AN
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Sample8.c » IFERMEFIEEHRERBIERKNEY

#include <stdioc.h>
int main(void)
{

int inum;

double dnum:;

inum = 160;

printf (" }§FR double B

dnum = inum: & IBFE#

printf(" BEE$f 2% ° \n",

return 0;




FrEAERRI BIRRE | poRagy 7]

double dnum;

INt 1num;

dnum = 160.5;

printf("fﬂ%ﬁg%ff&ﬁ -\n"", dnum);

pri ntf("afﬁ ERY INtR[FEFVE - \n'™") ;

Inum = dnum;

printf("Eﬂﬁﬁé%dfﬁﬁ -\n", inum);
AN -
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Sample9.c » EEHENEER/NNEH

#include <stdio.h>

int main(void)

{

double dnum;

int inum:;

dnum = 160.5:

printf(" B2 %f 24 ° \n", dnum);

printf (" FEEM int BVERVEF - \n");
inum - dnum; & { BERRNBEETHENL
printf(" BER $d/A4 ° \n", inum);

return 0;
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intd =2;

double pi = 3.14;

printf(",ﬁj % 5L%d >t 7 pY[E o \n", d);
printf(" %l [Eﬁ”ﬁj E5%fF 2T 55 o \n", d*pi);

42 >
h’ intBYBE
WATENZE & g
FEREEEERE
HAMSE
i”tﬁJF&F'fjﬁﬁ?dﬁi@ﬁW : ‘ﬁa—"‘
=

double®fiE &R 3 72 5T
doubleBY&E




Sample10.c » ARBEEHMNER

tinclude <stdio.h>

int main(void)

{
int d = 2;
double pi1i = 3.14;

printf(" HEfE $d 298E&  \n", d);
printf (" HEFEAYf 244 \n", d*pi);
L

return 0; int BUFEEV IS d @ISR double AUBIRBIEITER




[Fils EJEI'JE%[L S RET

int numl, num2;
double div;
numl 5;

num2 4;

div = numl /7 num2; //div = 1

div = (double)numl / (double)num?2; //div =
1.250000

(intEuAs ) T | intBYAE : astEE T - :
I Eﬁﬂllﬁﬂlﬁﬁd uble
= | | — —_—
n— | doubleBYHE | Ldnubleﬂ!&)




Samplell.c » [EEENERES

finclude <stdio.h>

int main(void)
{

int numl, num?2:;

double div:

numl / num2; @ EEX L - AR {8

2.
printf("5/4 5 %f o \n", div);

return 0;




